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Three, 5 and 9 colour steps for visual evaluation
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hez10-1n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000
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Three, 5 and 9 colour steps, numeric specmcatlon Bl&tkak 0000w BlBtkak ML6w A/ ititel
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0,00 0,5? 1,00 0,00 0,5? 0,5? 1,00

hez10-3n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000
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hez10-5n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa—l 000

Three, 5 and 9 colour steps, numeric calculation example
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Three, 5 and 9 colour steps, numeric calculation example Bl&ikdk00@0w Bi&ikdkien6w W hithitay W

0,00 0,50 1,00 0.00 0.0 (%88 0,50 1,00 0.00

0,00 0,50 1,00 0,00 0,25 0,50 0,75 1,00 0,00

NOOw NO8w  N16w NOOw  NO4w N12w  N16w NOOw  NO2w
0,00 0.50 1,00 0,00 0,50 1 OO 0.50 1,00 0,00 0,50
0,00 0,50 1,00 0, OO 0, 25 0 50 O 75 1,00 0,00 0,12

0 50 100 75 100 0 12

lﬂhhal(ﬁn Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa—l 000
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@y TUB-test chart hez1; Adjacent grey samples for visual mtervall scaling, example evaluation
_ of the grey series N—W with 3,5and 9 steps, OL(npghI*) 0. surround mean Grey U=N08w
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0,50
0,62
N10w
0,00 0,50
1,00

50 0,62

50

0,00
1,00
0,50

0,50
0,37

NO6w

0,50
0,37

PAS 37

62 75 87

TUBLOGU =[50/log(5)] |Og(Y/Yu)+5O Yn=4, Yy=20, Y\ =100

1,00 0,00 1,00
0,00 1,00 0,00
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1,0

L* TUBLOG,U:[50/IOg(5)] log(Y/Yy)+50, YN =4, Yy =20, Y\, =100

1,00
O 00 |e68=0,5( 1,00
c6=h3 |c7=e68*b 1,00
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TUBLOG,U :[50/|Og(5)] |Og(Y/Yu)+50, YN =4, YU =20, YW =100
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